1. A.SSE a,b 

What are the number of terms for the following expression?  -5x2 + 47

 A) 0

 B) 1

 C) 3

 D) 2

A.CED.1 
	x
	f(x)

	1
	0

	2
	1

	3
	2

	4
	3


  Which equation gives the rule for this table?

  A) y = 3x - 1

  B) y = 8x - 1

  C) y = x - 1

  D) y = 7x – 1

A.CED.3
Line A passes through points (-1,1) and (5,25) and Line B passes through points (7,-4) and (-4,18).  Where do these two lines intersect?

A.
[image: image1.emf]


B.
[image: image2.emf]


C.
[image: image3.emf]


D.
[image: image4.emf]


A.SSE.1.b

Simplify: y3 × y-4
A.
y7
B.
y-2
C.
y-12
D.
y-1

N.Q.2

Convert 25,920 liters per day to milliliters per second.

A.
[image: image5.emf]


B.
[image: image6.emf]

[image: image7.emf]


C.
[image: image8.emf]


[image: image9.emf]


N.Q.1
Solve for x.    

[image: image10.emf]


  A)  [image: image11.emf]


  B)   [image: image12.emf]


  C)  [image: image13.emf]


  D)   [image: image14.emf]


N.Q.1

Convert 40 miles per hour to inches per second.

A.
[image: image15.emf]


B.
[image: image16.emf]


C.
[image: image17.emf]


[image: image18.emf]


N.Q.2
Kinetic energy is the energy of a moving object. The kinetic energy of an object can be found by using the following formula, where [image: image19.emf]

represents the mass of the object in kilograms and [image: image20.emf]

 represents the velocity of the object in meters per second.

[image: image21.emf]


What is the kinetic energy of a 42 kg mass traveling at 22 meters per second?

A.
[image: image22.emf]


B.
[image: image23.emf]


C.
[image: image24.emf]


D.
[image: image25.emf]


A.CED.4
[image: image26.emf]


A.
[image: image27.emf]


B.
[image: image28.emf]


C.
[image: image29.emf]


D.
[image: image30.emf]


A.CED.1 
Write an expression for 86 fewer than the product of q and 95.
A)
   86 – 95q

  B)     86 – (q + 95)

  C)     95q + 86

  D)     95q – 86

A.CED.3
Gillian is shopping for supplies for a coworker's retirement party. Regular sized boxes of forks contain enough for 14 guests, while value-pack boxes contain enough for 35 guests. In all, there must be at least enough forks for the 58 guests who plan to attend.

Select the inequality in standard form that describes this situation. Use the given numbers and the following variables.

x = the number of regular boxes of forks

y = the number of value-packs boxes of forks

A)  14x + 35y +5= 58
B)  14x + 35y < 58
C)  14x + 35y + 4= 58
D)  14x + 35y > 58

A.CED.4
Given the equation below, solve for b.

[image: image31.emf]


A) [image: image32.emf]

           

B) [image: image33.emf]


C) [image: image34.emf]

      

D)  [image: image35.emf]


A.CED.3

[image: image36.png]



[image: image37.emf]


A.
[image: image38.emf]


B.
[image: image39.emf]


C.
[image: image40.emf]


D.
[image: image41.emf]


A.CED.4
An Air Force C-130 Hercules cargo plane left Buckley Air Force Base in Denver, CO at a height of 5,431 feet above sea level. If the plane climbs at a rate of 345 feet per minute, which function could be used to determine t, the time in minutes it will take the plane to reach its cruising elevation of 13,021 feet above sea level?

A.
13,021 = 5,431 + 345t
B.
13,021 = (5,431 + 345)t
C.
13,021 = 345 + 5,431t
D.
13,021 = 345(t + 5,431)

A.CED.4

Given the formula below, solve for h.

[image: image42.emf]


A.
[image: image43.emf]


B.
[image: image44.emf]


C.
[image: image45.emf]
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